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INSTRUCTIONS AND INFORMATION

1. This question paper consists of SIX sections:
Section At Short questions (15)
Section B: System Technologies (28)
Section C: Communication and Network Technologies (17)
Section D: Data and Information Management (27)
Section E: Solution Development (25)
Section F: Integrated Scenario (38)
2. Read ALL the questions carefully.
3. Answer ALL the questions.
4. The mark allocation generally gives an indication of the number of facts/reasons ( )
required. '
5. Number the answers correctly according to the numbering system used in this

question paper.

6. Write neatly and legibly.
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SECTION A: SHORT QUESTIONS

QUESTION ONE

1.1 Give ONE word/term for each of the following descriptions. Write only the
word/term next to the question number (1.1.1 — 1.1.10) in the ANSWER

BOOK.

1.1.1 A temporary storage space reserved for data and instructions that
is currently in use.

1.1.2 A computer attached to a network that has had its security
compromised and as a result is remotely controlled.

1.1.3 All web pages available to computers and devices connected to the
internet.

1.1.4 A method that gives access to an object's attribute without
changing the object in any way.

1.1.5 Encryption that uses a single ‘secret’ key for both encryption and
decryption.

1.1.6 A peer-to-peer protocol used for the transfer and sharing of large
files across a network of computers such as the Internet.

1.1.7 A person who uses a virus template to modify and create viruses of
their own, as they do not know how to create one themselves.

1.1.8 Businesses that use groups of low paid workers whose work it is to
() repetitively click on links to fake high web traffic.

1.1.9 The process of ensuring that data meets a set of requirements.

1.1.10  An attack that makes a website unavailable by using thousands or
millions of computers to request data from the site at the same
time.
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1.2 Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A-D) next to the question
number (1.2.1 = 1.2.5) in the ANSWER BOOK, for example 1.2.6 E.

1.2.1 A device that makes communication between networks over the
internet possible directing data to its correct destination.

A Modem
B Router
C WiFi

D Switch

1.2.2 Consider the following code to count the number of words in a
sentence.

sent = “How many words are there in this sentence”
count=1;
pos = sent.IndexOf(“ "),

while (pos >0) do

begin
sent = sent.substring(pos+1);
pos = sent.IndexOf(* ”);

end;

jTextAreal.append("\n"+count);

What will the output be?

A
B
C
D

= O ~N @

1.2.3  The design of a database that prevents a user from capturing data
when they want or need to

A Delete anomaly
B Insert anomaly

C Update anomaly
D Data redundancy

Copyright reserved Please turn over
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1.2.4

1.2.5

Copyright reserved

Convergence refers to...

A - Technology that is always on.

B Technology that does not need to be tethered to wired
connections.

C Functionalities of many devices built into one.

D The ability of mobile devices to connect to one another. (1)

Which ONE of the following icons is NOT an example of a web
browser?

(1
TOTAL SECTION A:  [15]
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Scenario

Your school is holding a fund-raising event in the form of a variety concert with guest
artists. The school has decided to use FIVE computers to make this task easier.

Grade 12 IT learners have been asked to assist with this project and you have been
appointed as the team leader.

The team will have to: .
e provide advice on the computer systems and suitable software needed.

s give general support on all computer-related issues including networking of
hardware.

Copyright reserved

SECTION B: SYSTEM TECHNOLOGIES
QUESTION TWO

The school has decided to purchase new computers.

Study the advertisement below and answer the questions that follow:

Intel® Core™ i3-4150 Processor (3M Cache, 3.50 GHz)
4GB DDR3 Memory

500GB SATA 2 HDD

Integrated Graphics card

DVD-Super 8X Multi DL drive

2 x USB 2.0,

Windows 8.1

2.1 The principal does not understand what some of the specifications mean.

What does each of the following refer to and explain its function.

211  3.50 Ghz
212 4GB DDR3

2.2 Which TWO aspects of the CPU influence the performance of the
computer?

2.3 The graphic designer for the fund-raiser wants a new computer with an Intel
i7 processor. The i7 is quad core, hyperthreading and has a 64-bit processor
with a CPU speed of 3.9Ghz, 8 MB cache memory and GeForce GTX 680M
with 2GB RAM

2.3.1  How many CPU’s does a quad-core chip have?

(1)
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2.3.2 Give a short description of what hyperthreading is.

2.3.3 List the FOUR steps that the CPU performs during the machine
cycle.

2,34 The computer mentioned above, has 8MB of cache memory.
a) Explain how cache memory works.
b) Give TWO reasons why cache memory on computers is limited

2.4 The i3 machine described above has an integrated graphics card. However,
the machine described in question 2.3 has a dedicated graphics card.

2.41 ldentify the graphics card mentioned in Question 2.3.

2.4.2 Explain why having a dedicated graphics card is better than having
an integrated graphics card.

2.5 The graphic designer keeps getting a message displayed on his screen that
virtual memory is low.

2.51  Whatis virtual memory?
2.5.2 Why is he getting this message?
2.6 Windows 8.1 is the operating system on this machine.

2.6.1 State TWO aspects of memory management that the operating
system is responsible for?

2.7 An alternative to purchasing the software was SaaS.
2.7.1 Expand the acronym ‘SaaS’.
2.7.2 Explain how ‘SaaS’ works.

2.8 Data stored on guest artists must be protected against loss or damage.

2.8.1 Describe how loss of data due to unexpected power failure can be
prevented.

2.8.2 Give TWO reasons, other than power failure, for the loss of or
damage to data.

2.8.3  Justify why the local hard drive would not be suitable for backup
purposes.

TOTAL SECTION B:

(1)
[30]
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SECTION C: COMMUNICATION AND NETWORK TECHNOLOGIES

QUESTION THREE

3.1 The learners have asked the principal for permission to network the

computers.

3.1.1 Define the term network.

3.1.2 The learners have been given an option to choose between a cabled
network and a wireless network.
(a) State TWO advantages of having a wireless network over a

cabled network. '

(b) Sketch a simple diagram of star topology network.

3.1.3 Distinguish between a router and a switch.

3.1.4  Which of the devices mentioned above can function as both?

3.2 The computing devices will have to be connected to the internet as well.
3.2.1 Suggest an appropriate type of connection.

3.2.2 ltis essential to have a firewall when using the internet? Explain the
function of a firewall. '

3.3 You are encouraged to create a podcast. What is a podcast?

3.4 The existing school website needs to be amend to promote the concert and
sell tickets online. In order to ensure that the website is secure, you will have
to apply for a SSL certificate.

3.4.1 What is an SSL certificate, and what type of information does it
contain?
3.4.2 How will the public know that this website is secure?
TOTAL SECTION C:
Copyright reserved

(2)

(2)

(1)
[17]
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SECTION D: DATA AND INFORMATION MANAGEMENT

QUESTION FOUR

Gr12/June 2016

4.1 One of the characteristics of computers that make them so attractive is their
accuracy, which is heavily dependent on the quality of the data that is
supplied. Working with inaccurate data can have huge consequences.

4.1.1

412
413

4.14

In view of the above statements, explain what is meant by the

‘GIGO’ principle.

Besides accuracy, hame TWO other characteristics of quality data.

Define the term ‘data validation’ from a programming point of view.

program.

Name TWO data validation techniques that can be used in a

4.2 A central database has been created for the organisers of the variety
concert to record details of participants and the events they are participating

in.

The following tables have been designed :

Key Field Name ata
Type

% Participant_ID Text
Participant_Name Text
Participant_Category | Text

Key | Field Name Data Type

& Item_No Text
Item_Category Text
Participant_ID Text
Duration Number

Copyright reserved
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Examples of data from ParticipantTbl and ItemTbl :

01 ) Ys‘tr S De Troup i Erop ‘

002 |Wesden & Waiden's Comedy Clrcus ~~~~ {Duo
003 _JHannah&Growp  |Group
004 ~{Zime's Dance Diva's Group

005 - {Bevash Mohan Solo

006 {Thabiso's Showband |Group

007 leremy & Prineshri {Duo

008 . ‘JAshveer & Group Group

009 {Reon Chetty Solo

010 Sushmita & Junaid {Duo

sy
i

? ~ 2 = -~ - ”_’ - - £ = e =

1 [song loos ' | 5

2 |pance ooz 10

3 Sorg lo10 | 8

4 |Dance {003 ) _ 12

5 pance 009 | 10

6 Play o ...Jo03 ’ 20

7 iDance 1004 1 10

8 |song » {010 ] 7

lo |Play v j002 - 15

10 IDance 007 ] 12

11 pong 005 - ! 6

12 Play Joos = 25

4.21 Normalisation forms an integral part of database design as it
increases the effectiveness and efficiency of a database.
Define the term normalisation.

4.2.2 Describe the relationship that can be formed between
ParticipantTbl and ItemTbl by clearly indicating the following:
(@)  The type of relationship formed as from the ParticipantThl

side.
(b)  The primary key and the foreign key used in the relationship
and the table names in which they occur.
Copyright reserved
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4.3 Use the table structures on the previous page to formulate SQL statements
for each of the following queries :

4.3.1

4.3.2

4.3.3

4.3.4

Display all details of the ItemTbl table sorted in descending order
according to the Duration field.

Display the Participant names, ltem number and duration of all ltems
that belong to the item category Play.

Yasteer's Dance Troupe has decided not to participate in the
concert. Remove their record from the ParticipantTbl table.

The organisers of the variety concert would like to know the total
duration of the concert. Calculate and display the total duration and
store this value in a variable called Total.

TOTAL SECTION D:

SECTION E: SOLUTION DEVELOPMENT

QUESTION FIVE

5.1 Various errors can occur while coding and executing a program.

Discuss the THREE types of errors that can occur while programming and
provide an example for each type of error.

{ )52  The IT learners have created a project to help capturing the data for the
guest artists performing.

Study the class diagram below and answer the questions that follow:

Artist

-ArtistID : String
-ArtistFirstName : String
-ArtistSurname : String

+ Constructor()

+ Constructor(ArtistiD, ArtistFirstName, AristSurname)
+ getArtistFirstName()

+ toString():String

5.2.1

Copyright reserved

A mutator method for ArtistSurname has been omitted. Rectify the
situation by writing down a mutator method for the ArtisSurname?

(4)
[27]

(6)

(2)
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5.2.2 ldentify the accessor method from the given class diagram. Identify

and correct the error in that method.

5.2.3 Whatis the usual purpose of a:

(@)  toString method
(b)  Parameterised constructor

5.3 The following GUI is currently used to allow a learner to input information
about the artist.

5.3.1  Critically comment on THREE design aspects of the given GUI.

Copyright reserved
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5.4 The IT learners were debating which the most popular email address is.

They have on record a text file containing email addresses, entered by all
people who have purchased a ticket. One of the learners insisted that gmail
is the most popular.

Text file contain email addresses:

vastheer12@yahoo.com
weswal@gmail.com
hannahgro@telkom.co.za
zime@gmail.com
bev445@gmail.com
thabiso@yahoo.com
JerPrin@telkom.co.za
asharoup@gmail.com
i ReonC@vodamail.com
Sushmita@amail.com

They have written the following algorithm to determine whether that learner
is correct:in his assumption.

Total € 0;
Count < 0;
Loop to the end of file
Begin
Read line of text
Increment(Total)
Spilt line using @ delimiter and extract domain
If (domain = ‘gmail’) then
Increment(count)
End loop
if (count > (0.5 of total) then
display gmail is popular
else
display gmail not as popular as you think

0O NO U WO -

L L UL (L U S (0 )
OO

5.4.1 Copy the table below and trace through the algorithm using the given
headings:

Line [Total {count|domain |domain= gmail ? |count > display
0.5%total? (8)

TOTAL SECTION E: [23]

Copyright reserved Please turn over




Information Technology/P2 14 Gr12/June 2016

SECTION F: INTEGRATED SCENARIO

QUESTION SIX

6.1

6.2

The Fundraising committee of yourhschool has decided to upload information
concerning the variety concert to the school website as the school currently
runs a dynamic website, which is often updated with current news and
events.

6.1.1 The website offers an RSS feed.

Give TWO reasons why an RSS feed is useful.

6.1.2 Lossy compression is used for the photographs that are uploaded.

Explain the concept lossy compression.

6.1.3 Tabulate THREE differences between static and dynamic web
pages.

6.1.4 Multimedia files from the Internet, such as music and video files can
be downloaded or streamed.

Clearly differentiate between downloading and streaming.

The chairperson of the fundraising committee received the following email.

(3)

(4)

Wik

dBank

Dear wvalued customer of TrustedBank,

We have recieved notice that you have recently attempted to withdraw the
following amount from your checking account while in another country: $135.25.

If this information Is not correct, someone unknown may have access to your
account. As a safety measure, please visit our website via the link below to verify
your personal Information:

hittp: Ay trustedbank comdgeneral/custyerifyinfo.asp

Once you have done this, our fraud departrnent will work to resalve this
discrepency. We are happy you have chosen us to do business with.

Thank you,
TrustedBank
Member FDIZ B 2005 TrustedBank, Inc,
Copyright reserved Please turn over
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6.2.1 Give THREE reasons why you will be cautious or suspicious of this
e-mail.

622 Name TWO ways in which you can confirm that this e-mail is
fraudulent (not 'genuine’).

6.2.3 What is the generic or general name given to this type of activity?

6.24 Recommend TWO ways to ensure that you do not become a victim
of this type of activity.

6.3 “Cyber space can often be viewed as a mysterious and dangerous place
with ever present threats that make people mistrust and fear technology.”

Supply THREE reasons why you would agree with this statement.

L. The organisers of the variety concert have advised the school to use cloud

L~
" .

storage to store video material.

6.4.1 ‘Ubiquity’ is considered to be one of the benefits of cloud computing.
What does this term refer to with respect to cloud computing?

6.4.2 Cloud computing can be beneficial for green solutions in terms of
hardware. Substantiate the above statement by explaining how
cloud computing aids green computing.

6.4.3 Cloud computing is said to rely heavily on virtualisation
technologies.

What does the term virtualisation refer to in this context?

6.5 “When many devices are connected to one another and to the Internet, files
can be shared by simply making them downloadable from a website”.

6.5.1  Whatis BitTorrent?
6.5.2 Briefly explain how BitTorrent works.
6.5.3 Outline TWO benefits of using BitTorrent.
6.6 Encryption is used in a variety of data communication applications.

6.6.1 What is the general aim of encryption?
6.6.2 Applications like Dropbox, make use of automatic encryption.

Why is it important for these services to make use of encryption?

TOTAL SECTION F:

TOTAL : 150
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Information Technology/P2 3
Scenario

Your school is holding a fund-raising event in the form of a variety concert with guest
artists. The school has decided to use FIVE computers to make this task easier.

Grade 12 IT learners have been asked to assist with this project and you have been
appointed as the team leader.

The team will have to:

* Provide advice on the computer systems and suitable software needed.

» Give general support on all computer-related issues including networking of
hardware.

SECTION B: SYSTEM TECHNOLOGIES

QUESTION TWO
The school has decided to purchase new computers.

Study the advertisement below and answer the questions that follow:

intel® Core™ i3-4150 Processor (3M Cache, 3.50 GHz)
4GB DDR3 Memory

B500GB SATA 2 HDD

Integrated Graphics card

DVD-Super 8X Multi DL drive

2 xUSB 2.0,

Windows 8.1

2.1 The principal does not understand what some of the specifications mean.

What does each of the following refer to and explain their function.

211 3.50Ghz
s Refers to the processin
compuier second.

Nhy raf : iaa +
e Ghzrefers io Gigaheriz v

212 4GB DDR3

@

temporarily during exacu
e Available storage space is 4 Bigabyies v

2.2 Which two aspects of the CPU influence the performance of the computer?
» The speed of the CPU v
e The number of cores v

Copyright reserved
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The graphic %Wmﬁ:g for the fund raiser wants a new computer with an Intel
i7 processor. The i7 is quad core, hyperthreading and has a 64-bit processor
with a CPU speed of 3.9Ghz, 8 MB cache memory and GeForce GTX 680M
with 2GB RAM

23.1 How many CPU’s does a quad-core chip have?
« 4V
2.3.2 Give a short description of what hyperthreading is.
o hyper-Threading is g fechnology used by some
intel microprocessors that a ingle mi
ke two separate processors o the operat
. N exgcute two (rather than onej ¢
r threads} of instructions sent by the operating
233 List the FOUR steps that the CPU performs for every instruction
during the machine cycle.
Machine cycle
e Feich instruction from RAM to CPUY
¢ Decode the instructionv
e Transfer the data from registers to CPUY
s Execute the instructionv
2.3.4 The computer mentioned above, has 8MB of cache memory.
ay Explain how cache memory works.
e Cache memory works by prafelching the
instructions/data most {0 be ussd next by the
CPUv in order {0 assist the CPU from not reading the
instructions s
b)  Give TWO reasons why cache memary on computers is limited
e Cache is very expensivev
e Cache is located i the CPU and the space is
restrictedy’
The i3 machine described above has an integrated graphics card. However,
the machine described in question 2.3 has a dedicated graphics card.
2.4.1 lIdentify the graphics card mention in Question 2.3
e GeForce GTX 680M v
2.4.2 Explain why having a dedicated graphics card is. better than having
an integrated graphics card.
e its own independent
your sysiem uses
untouched. v
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SECTION C: COMMUNICATION AND NETWORK TECHNOLOGIES ™

QUESTICN THREE
3.1 The learners have asked the principal for permission to network the
computers.
3.1.1  Define the term network. {2)
s A network is a group of fwo or more computers or devices
that are linked togetherv via a2 communication madia for the
purpose of transferring data and communicating v
3.1.2  The learners have been given an option fo choose between a
cabled network and a wireless network,
(a) State two advantages of having a wireless network over a
cabled network. )
Advaniagss {any TWO v
e Noplanning
» No extra cost involved for new devices
* Users can move arcund with devices
* Less expensive 1o setup
s Less running cost
(b) Sketch a simple diagram of the wireless network. 2)
PG
s Yireless router v
+ ‘Wireless devicas v
3.1.3 Distinguish between a router and a switch. 2y

e A rouler is & device that forwards data packets along two
natwerks to a specific address v whersas:

s A network switch is a computer networking device that
connects devices together on a computer network, by using
packet swilching 1o receive, process and forwerd dats 1o the
destination device. v

Copyright reserved Please turn over
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314 Which&f the devices mentioned above can function as both?

> * Routerv
3.2 The computing devices will have to be connected to the Internet as well.

3.2.1  Suggest an appropriate type of connection.
e 3GHGvV

3.2.2 ltessential to have a firewall when using the internet. Explain the
function of a firewall.

hardware or software v that

re using the communicat

W

3.3 You are encouraged to create a podcast. What is a podcast?
° A podcast is an audiofvideo/madia file v that is made availeble for
downioad/siore on your device from the Internet, v

3.4 The existing school website needs to be amended to promote the concert
and sell tickets online. In order to ensure that the website is secure, you will
have to apply for a SSL certificate.

3.41 What is an SSL certificate, and what type of information does it
contain.
. SS8L certificate is a file that contains the credentials of the
company like: v/

¢]

o Padicck

TOTAL SECTION C:
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M
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(b) The primary key and the foreign key used in the ﬁm_mao:/\m_\:.b and 2)

the table names in which they occur.
b} Primary key — ParlicipantiD in ParticipaniThiv
Foreign key - ParticipantiD in itemThiv’

4.3 Using the above table structures formulate SQL statements for each of the
following queries :

4.3.1 Display all details of the ltemTbl table sorted in descending order
according to the Duration field. (3
v v v
SELECT * FROM ttlemTbl GRDER BY Duration desc
4.3.2 Display the Participant names, Itern number and duration of all
ltems that belong to the item category Play. (4)
SELECT PariicipantThbl.Participant_Name, ftlemTol.ltem_No,
fiemThl. Durationv’
FROM ParticipaniThl, ltemThl v
WHERE ParticipantThbl.Participant 1D = llemTbl. ParticipentiD v
AND ltemTbl ftem_Category = ‘Play’ v
4.3.3  Yasteer's Dance Troupe has decided not to participate in the
concert. Remove their record from the ParticipantTbl table. (3)
v v
DELETE FROM ParticipantThl WHERE
CR
DELETE FROM ParticipaniThl WHERE Participant_ID="0071’
444  The organisers of the variety concert would like to know the total 4)
duration of the concert. Calculate and display the total duration and
store this value in a variable called Total.
¥ s e
SELECT SUM(Duration) AS [ictai] FROM itemThl
TOTAL SECTION D: [27]
Copyright reserved Please turn over
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SECTION E: mO_rG._..m:.@hZ DEVELOPMENT

QUESTION FIVE

5.1

5.2

Copyright reserved

Various errors can occur while coding and executing a program.

Discuss the THREE types of errors that can occur while programming and
provide an example for each type of error
e Syntax - A syniax error ocours when the programmer fzils to obey
one of the rules of the programmir
colon at the end of a statement v

nguage. ¥ e g. 2 missing semi

e Llogic - is a mistake in a program's source code that
Incorrect or unexpected behaviour ¥ a.g. a+h/2 instead of ¢

e Runtime errors - An error that ocowrs during the execution
program, ¥ e.g. division by zero srror v

The IT learners have created a project to help capturing the data for the
guest artists performing.
Study the class diagram below and answer the questions that follow:

Artist |
-ArtistlD : String
-ArtistFirstName : String
-ArtistSurname : String
+ Constructor()
+ Constructor(ArtistID, ArtistFirstName, AristSurname)
+ getArtistFirstName()
+ toString():String

]

5.2.1 A mutator method for ArtistSurname has been omitted. Rectify the
situation by writing down a mutator method for the ArtisSurname?
s+ vsetArlistSumame(String AristSurmams) v

5.2.2 Identify the accessor method from the given class diagram. Identify
and correct the error in that method.
s getArlistFirsiName{} v - Daia type is missing. should b

gethrtistFirstName() | Stringy’

0]

523 Whatis the usual purpose of a:
(2} toString method: To join the aitributes and retum s value as
string. v
(b} Parameterised constructor: To pass values to the fislds of an
object or to give actual values i the attributes of an obiect. v

()

@)

@)

2
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| Trace through the algorithm using the following headings: [Line| Total [count| “woimain | domain=gmail ? | count > display
Line | Total |count |domain | domain =]ls display 0.5total? -
- ‘gmail’ count > 1 0
05 of 2 0
total 6 | 1
1 0 7 yahoo ;
| 2 , C 8 False i
5/6 1 6 2
718/9 ' yahoo | No 7 Gmail
516 |2 8 True
7/8/9 1 gmail yes | 9 1
56 |3 | 6] 3
7/819 . telkom | No 7 Telkom
56 |4 8 False
1718/9 2 gmail  |yes 61 4
5/6 |5 7 Gmail
7/8/9 3 gmail yes 8 True
56 |6 ‘ 9 2
71819 yahoo | No 6 5
56 |7 7 Gmail
| 7/8/9 telkom | No - 8 True
5/6 8 9 3
7/8/9 4 gmail | Yes 6, 6
56 |9 _ . 7 Yahoo
7/819 vodamail | no 8 False
5/6 10 ¢ 5] 7
71819 57 gmaily | Yes v 7 Telkom
11v . Nov’ 8 False
14V Not as 6] 8 ,
[ popular | 7 Gmail W
as you 8 True
think ¥ (8) 9 4.
6 9
OR 7 Vodamail ,
8 False
6 10
7 Gmail | ’ W
8 v True M
S 5v v
117 | False
147 v ‘ 4 Not as popular as
you thinkv

(must end of with 11 and 14. The rest are 1 mark per completed column)
TOTAL SECTION E: [23]
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6.2.1-  Give THREE reasons why you will be cautious or mcm_,%mm\ocm of this
e-mail.
{accept any THREE vv'v' )

Information Technology/P2

he banks do not contact customers i
on o their website 1o verify th

email to ask them o

j\

S nd o
or contaclge

m.mNZmBm_<<O<<m<mm:<<Eo: <o:om:oonmﬂaﬂjmﬁ%mwm-gm:_,m
fraudulent (not 'genuine). :
{accept any TWO v v}
e Contact the bank persenaily/telephonically
 Check the actual web address by looking at the properties of

for similar schames,

623  Whatis the generic or general name given to this type of activity?
e Phishingv

8.2.4  Recommend TWO ways you can make sure you do not become a
victim of this type of activity.
{gccept any TWC v v)
e Do not click on hyperlinks to gain ac
website, type the name of the bank’
browser yourself.

)

88 {0 2 bank’s
URL in the web

(o]

e Ensure you have security softwars instalied in your
comgputer.
e Use good password practice

- N
® O Not

o

(e

ive out personal information to any person/instit
you do not know

']
Q

Copyright reserved

Information ._.mo::o._om * 20 June 2016
S . .
6.3 “Cyber space can often be viewed as a mysterious and dangerous place
(3) with ever present threats that make people mistrust and fear technology.”
Supply THREE reasons why you would agree with this statement.
Various forms of o uter es for exampie ide
voer terrorism eie
* Spread of malware eg viruses, Trojans efc in order to corrupt your
» Social Engineering sic.
6.4 The organisers of the variety concert have advised the school to use cloud
storage to store video material.

6.4.1 ‘Ubiquity’ is considered to be one of the benefits of cloud
computing. What does this term refer to with respect to cloud
computing?

) ¢ Ubliquity refers to the fact that access 1o data in the ‘cloud is
not limited by time and distance, v as o n
Internet connection ‘the
where ¥
(2) usi
{The ‘cloud

6.4.2 Cloud computing can be beneficial for green solutions in terms of
hardware. Substantiate the above statement by explaining how
cloud computing aids green computing.

¢ Making use of cloud compu
as fewer hardware devices are re
for example local hard drives wi re not

6.43 Cloud computing is said to rely heavily on virtualisation
technologies. What does the term virtualisation refer to in this
context?

s inthe ‘cloud P very powerful machines are split
betwean or the resources of many m
super powerful service. The
ed of mputer, wi
maching’. ¢
6.5 “When many devices are connected to one another and to the Internet, files

can be shared by simply making them downioadable from a website.

Copyright reserved
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